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202 =2 FHISAHL=70m, H=1.0m) 25,000
OAKtiote =2 ZZSAHL=300m, B=5.0m) 30,000
OMBOIE 912 FHIZAHL=G, He1.8n) 20,000
OXI=02 WEX 23 AHBMN A, H=2.5m) 15,000
OgMiciore o2 OtAZ HEESAHL=300m, B=
3.0m) 30,000
OgM2elie =2 ZZEZ2AHL=100m, B=3.0m) 20,000
SOH0KS O BH4Z HHIZAHL=800M) 15,000
O &1elit2 =2 ZHISAHL=150m) 30,000
O=gz2elite s2 23 AHL=50m, B=3.0m) 20,000
ONIZ0tS ot OtAE ZEHZBAHL=300, 8-3.0m) 30,000
OIS =2 FHHISAHL=30m) 15,000
ORUUBHSBY F¢ V0T X4 30,000
HY2HZHI(EEH) 114,070 124,230 10,160
J1I=2d8l 114,070 124,230 210,160
JI=23Hl 114,070 124,230 210,160
201 2Bt ] 69,190 69,190 0
01 AFR2telHl 47,590 47,590 0
o2t 43,40
~BNBY YULEH S
3,500,000&  12& 42,000
—AS - Yo BANY 248
120,000& 122 1,440




SN B
A HZYRAZH|(EEH)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZN2g Sl 8,00021 %178 #2554 3,400
ogx+g 30,0002 x5 750
02 S3=gHl 21,600 21,600 0
OsE2= & HA 1,500,000& «12& 18,000
OoRER3 300,000 * 122 3,600
202 04l 34,000 44,160 210,160
01 2LHoIH 6,000 7,200 1,200
O=LH04HI 20,0002 x3F 100! 6,000
02 A0 28,000 36,960 8,960
OZ A0 200,0002 14 x102 28,000
203 =8| 10,880 10,880
01 J122geR=4a| 6,600 6,600
OJ|22g8g=at| 550,000& * 122 6,600
02 HRAJAHARFAIH| 680 680 0
Ot =] 40,0002 17 680
M EAEgER=A 3,600 3,600 0
ORAMEEYg =2t 300,000 * 122 3,600




